CNCE. 225 Jiuabs. -

A Mool Slassanll oo e

(( 8140l

- ng\Ply g“.PP“fi L:nm ((j_my) (enfev o Center.

DL= (o tN/in || =80 HMi. —>w=

L o — ¢
L2 Dldl =B = g ¥ 44—

Bco\w
oSS forbig H X B = 756 X Goo \mim. 4//‘/
CQ‘MV‘\n 550 K S50 v bm //—/
Clssed o loo Pl sheplnps ( #12) /——/“/’
i
7€ =26 MR f}-_ YzoMpa. M
-—-r———//
2o
/‘WM v
o | | e - iomie
N Vo m —=

P

|- T\lao :IAI .? ({ece KM/"-__/_
\ } / //l——/

pue ! .
() ] | S s Vi =ploes o —
Swm i ~ o

. __hﬂ__________"_’\_\-::_is—‘i——ﬁ-'iﬂ““"‘"A_—-————“
T WA Fe—
| S ———

e ——————————




Fal . 500 i
el VR
SE43 N
———ASSume__d=0.9 w2 layerS #43 J e
a’=7§o—4a-12—42-3zl ’ q g4 f’]
J‘: {32.5 avitse L O 4 @ Ol(
- =

M= AYZo 2 _ (383 Mp, .

o —— . Jﬂl"(’y Ret'nﬁr{pmeu‘f‘ Swin =43 o B - N
&9_@1 A.\{ : e. =o0.R z j-)-ecb=°l°z‘1 " 1:04:0_0‘241 ” /:;("2000032 -
5 tf(( £ P Y i A As, = 6746775 P 2.
b i
Td
a O A ? T=C, = a-= As.‘l}f a
) - l FEN A= =2 = = ]
- 'ﬂﬂ\}, > (%.,..».. = 7 /408,_#3?15_2\30:
Gﬂs,

Ohg,

-

€;: o064y _M;ggﬂ_g__j‘dﬂpj'_\h}zi_;_ZZ.Sm_

\

iw»wv\.—\

\
s = 0.0020F > o0-e02

A5 .

=76 HPa= ﬂ%dt = ¢5/‘1=- {229.8 mVwm.

wel\ Yield. 2\

MZo ME —|

e e—

_,____,_Mu_—_rd/—(. - \2F0.2 aN:m.

As

Iy = 2F0i2 (Vo= d st fy (dd') = A=A, = £ OlMun: “As;u&:zi&_—ﬂ

,A"—Z""Q A< . AL i - \7- 7MT~
=
c.).g‘\:{ 2 v“ﬂg_.‘“ b Liz; It u_/L,{(f_L 2 Seo-\Mo- Ko-Ll:,Ll_Hﬁ.(ilJ»lgﬁr
As\: 7260 > As=\3060 mam ST —

= C = ,4(4 o skl g o kS )(;.‘

oicolq2U —f;_{;\.-g g

. 87x AP

_ %8Suwme p;,\ = %zn_/g(fj\_il&_n;l(ﬂ_mwlsz."},ﬁ v e E

- \_ e - =
 Mfue o325 b = s \Blmmalz i Wmagts 0 0 02oz o h 2 UBHME,. —dax - V=2

i, ATt B Rt . sebettwiddble o

By, = PH,, + M., 2R
%) .
o zf owsfiab ad A f

\ (d-dt) = 2 Fol avm > A,

4_/:‘4&_&!_{_@1(3%_-(_&@&& (j B =S

€5z 0945 P4 2o
Fi J-. 0-q.)

A= 345
“‘é‘-u LY. .n};qrq.__




fok.

3" VC ’—'0-‘7'\! -/:‘ L) A
et r—\
\/1v = 323. 085 HN [ qee b
4V, = 2U2.3 HIV \/ \ S
k.\. gv‘f‘/\
De . isnnm | S—
\eootV )
ﬁ B IV"‘@(,I —, ki s B
83"“‘ o '\/o ﬁem/:rcemen"' hecglg,l. : —_—
GU3.3z2 vV
|
i V“@c! 2 BV oV v = Vaed- ¢V, l \.\ SEa o
' |
Ve = 77656 M >2Ve= £4 b (7N f | \{"'g e
&\ | i ]
f !
! -
? ,A_V_’[:’T__—— Sle. o ! ' . \"‘_’
ERAREET ] )
SMQ‘ = "My w» A Al o.‘l... z.fzm %
6.3 5} —5‘12,[‘,‘_\“‘ (!4 S z]
} 01/4 = 1S &: dvivs
l 300,
E S.V'\q;(— \gO\/\.‘u‘
5. A _ ZhAs /”‘/ Yol kN
S-Cvwax) gv_‘%y
X = Birp. e H 2-62m.
L = o Ve V64232 peN = %2
e G ey
{‘ g - d AS '/)\’0/ 98‘”‘“‘ ¥ S Gt
Ve %
0.9 262
7— # 9/’_5*'-174(9)' = ( 0 .06 o 5 +‘J) ot 2 = 7?




tg\fac(‘\‘cmf Descan
$2 500 I
8' i[:‘r)’w" a Pfrotch o Lead Cﬂ‘c. { MNREEE ey
MA’Y S-L\on 4 S-{'\’!:_f VL"@'J: 5(7 i HM -( S
.gfeq;q.‘,ec{’ =S5 0w
SR . TRV RN el . Ml B
Osos‘
SeCakJ m_'gﬁ'gqfl. P
LA R )
Thess s, f
H#  Shrnpe= 2T ET_ . -
005 el —
=131 —— gz — |

ol Sd us3

¢|2 @ 50wmm

Pl |

Wt [

L L]

ERRREN| [

2 \«Yerj‘] LA |

Lo ( @ A0 —— Y i
) |
}530 L"w{ L 2w 1.2 262w L @, "L
JIT‘: o 7 e r eS8 Py
Vig
= sg@“"fon 14- ‘uo goo""\""\ I7$
S
4 A s
S443 A & l
s } 729.11»\\4_
i L’ — i
L7 . /
i 00> b .
Jlves,., |
T }« e ——————————




